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JIE 3z R BN BOHER |FGREME| B & *® = ke B4 | B #5 B {ff
1 2 = REA BEX 964,000 286 335 2,878 3,371
2 EROKER ZEA BEE 961,000 292 382 2,516 3,291
3 SEfCLE ZRA HES 960,000 287 334 2,874 3,345
4 |[ERKER =03 ZREA 949,000 270 350 2,711 3,515
5 BERE2|ZEA EE 940,000 259 320 2,938 3,629
= BE AN 5 il 4% (M £ {r588)
JIE 22 5 BOX |BOMERX |FEME| B & & E | keHiffi | B &b E(d
1 ZIEA R %12 (EER | 1,108,000 286 318 3,484 3,874
2 ZIEA B B o 1,020,000 293 284 3,592 3,481
3 EE# fgs RB &5 1,014,000 293 343 2,956 3,461
4 EE =153 JdEE7m8 | 989,000 286 316 3,130 3,458
5 EE# ZRA 5 B 983,000 314 356 2,761 3,131
RS lg(ES B LA55E)
EYA| BB B (el |REMES [FHMEE |(FHER | THERE| keH(f| B E
EE#% 25| 891,000 588,000 743,760 284 323 2,303 2,619
SEHCE 17| 960,000 597,000 764,412 281 325 2,352 2,720
SRARER 15| 961,000 611,000{ 834,533 281 339 2,462 2,970
XERE 15|  843,000f 458,000 742,067 288 332 2,235 2,577
&F 1@ 13|  850,000| 559,000 754,231 277 335 2,251 2,723
TEES R B S i 4s (4 5%k E{1588)
TEMFA| BB M |maflE |HIEME |[FHEE | FHEE | FHERE | keE(l| &R
EEM 23| 1,014,000, 305,000 768,565 294 295 2,605 2,614
EXEEE 19/ 728,000/ 325,000 608,158 295 302 2,014 2,062
ERAER 18|  855,000{ 545,000 708,333 293 330 2,146 2,418
e 18] 691,000 201,000/ 551,611 295 295 1,870 1,870
SEfo 15/  938,000] 419,000/ 649,000 304 291 2,230 2,135
HHESIETERIOBE
i B H |melitd |RIEME |FEHME | FHER | TFHARE| keHE | BEEM
£ 13|  850,000f 559,000/ 754,231 277 335 2,251 2,723
HY 18] 691,000 201,000{ 551,611 295 295 1,870 1,870
H 31| 850,000/ 201,000 636,581 287 312 2,041 2,218
TEHE#HE] EEFDORE
% Al 5% BOXR BOHERX |ZEME | B & *® = ke B {iff | B d% B
=8 |EFEEFE =03 ZRA 855,000 245 300 2,850 3,490
H9  |IRE EEH ZIEA 732,000 278 351 2,085 2,633




